
05.42 Сборник конденсата (детали) 
 

 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 4436123270 Сборник конденсата 4429 
002 9906000360 Корпус сборника сепаратора  
003 9906001480 Шпилька M8 x 20 CSN 02 1176.25 
004 9906001470 Шайба пружинная 8 CSN 02 1740.0 
005 3111100610 Гайка M8 ISO 4032 - 5 MKS 720 
006 3111731410 Кольцо стопорное 45 CSN 02 2931 
007 2731102090 Кольцо уоплотнительное 45 x 2 CSN 02 9281.2 
008 9906000180 Втулка  
009 9906000370 Конус уплотнительный  
010 4439100220 Поршень 9431602 
011 9906000200 Прокладка  
012 3151500010 PRUZHINA  
013 9906000190 Дно сепаратора  
014 9906000160 Дно  
015 9906000150 Втулка  
016 9906000140 Сепаратор  
017 2731102620 Кольцо уплотнительное 95 x 3 CSN 02 9281.2 
018 3091128600 Шпилька M8 x 20 CSN 02 1178.2 
019 3111105360 Шайба 8,4 CSN 02 1702.1 MKS 720 
020 3111100590 Гайка M6 - 5 MKS 720 ISO 4032 
021 9901000140 Шайба пружинная 6 CSN 02 1740.0 
022 3111105350 Шайба 6,4 CSN 02 1702.15 MKS 720 
023 9906000130 Корпус сепаратора  
024 2731102080 Кольцо уплотнительное 50 x 3 CSN 02 9281.2 
025 9906000120 Шпилька M6 x 20 CSN 02 1178.25 

 
 


	05.42 Сборник конденсата (детали)

